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HOW TO PLAY THE GAME

Hints: This is a math board game that is played with a dice with the objective being to get home
from a start point. All the questions on this game have answers that range from 1 to 6
(coincides with points on the 6 sides of a dice). Two people can play this game as represented by
the letters A and B.

Roll the dice and move a seed from the starting point which is ‘1’ for both players.

If you roll the dice and get 3 for example, you are expected to look for a problem whose answer
is 3. You can then move your seed through three spaces.

It is also advantageous to look for problems that have high points. Points range from 2 to 4. You
will notice that difficult problems have more points.

If you roll the dice and find out that you make two points, you will be forced to go through the
maze; this makes the distance home longer. If you happen to arrive at 6, you will obtain the
maximum number of points (36 points). You move straight home and win the game.

If you land on 8 you will have to restart the game.

Both players should record their score on a sheet and compare their score at the end of the
game.



